A & 0l & AFHSH H Al A
202359 204k LB A =1
A A=
. NRNE KA (SRS )
crol: QIoIRA (Crol: &)
S - B - ol(31H) o - pa= ol &kt ] B2t
A=Kt 25,100,139 18,662,189 6,437,950
= 4,554,428
| 250,000
& 2,195,517
Al 17,366,012
= 734,182
ARITIE S (s~ AS 6,637,8% 5,164,782 1,473,114
= 3,321,905
& 876,178
Al 2,439,813
=y 6,637,8% 5,164,782 1,473,114
= 3,321,905
& 876,178
Al 2,439,813
(IXNGES =Y 416,343 416,340 3
= 208,172
& 62,451
Al 145,720
402 I2EAHE01M 416,343 416,340 3
= 208,172
& 62,451
Al 145,720
03 SIZtRAS A 416,343 416,340 3
OXIHES =2 (20na) 416,343,000 14! 416,343
= 208,172
& 62,451
Al 145,720
(R)ZHBEH 212,121 142,665 69,456
= 104,121
& 32,400
Al 75,600
402 212E X201 M 212,121 142,665 69,456
= 104, 121
& 32,400
Al 75,600
03 QIZHEAISHI 212,121 129,705 82,416
OZHNE =4 (50a) 212,121
— 2T AAH(28ha) 108,204,000 % 14! 108,204
2 47,724
& 18,144
Al 42,336
—HH0| #2121 (6ha) 20,595, 0002+ 14! 20,59
= 7,635
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< 3,688
Al 9,072
—SEX2 %4 (6ha) 18,522,00024% 14} 18,522
= 5,562
< 3,888
Al 9,072
—ZRPEA (5na) 32,400,0008+14] 32,400
= 21,600
< 3,240
Al 7,560
—REEXZTE(5ha) 32,400,0008+14] 32,400
= 21,600
< 3,240
Al 7,560
B ENEES 180, 768 79,073 101,695
= 84,387
= 28,913
Al 67,468
400 SIHAF=01A 180,768 79,073 101,695
= 84,387
= 28,913
Al 67,468
03 CIZFErAIH] 180, 768 79,073 101,695
O2ULt2xE(16ha) 180,768
—Z2lx2l(6ha) 72,300,000 %14l 72,300
= 36, 150
< 10,845
Al 25,305
— ARITHBH X (OHS =) (8ha)
96,370,002+ 14} 96,370
= 48,185
= 14,455
Al 33,730
— AP THBHE I Z R (2ha)
12,098, 0002 14! 12,08
= 52
= 3,613
Al 8,433
S EZYEES 432,155 0 432,155
= 157,305
< 82,455
Al 192,395
402 QIRIAHE01H 432,185 0 432,155
= 157,305
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| 192,395
03 QIZ2tLAEIAS 432,155 0 432,155
Ot A2 EE 432,155,000+ 14! 432,155
= 157,305
& 82,455
Al 192,395
(Z)L2AIE St 240,000 198,000 42,000
= 120,000
& 36,000
Al 84,000
402 QIZEXHE0| A 240,000 198,000 42,000
= 120,000
= 36,000
Al 84,000
02 QIZIN AL B X (01X ) 240,000 198,000 42,000
OLZEAlIY SUSHAL
240,000,000 14! 240,000
= 120,000
& 36,000
Al 84,000
(2) A A AL S 3,800 7,600 A3,800
= 1,520
& 684
Al 1,596
301 LBt8d3 3,800 7,600 3,800
= 1,520
& 684
Al 1,596
14 JIEIE &= 3,800 7,600 3,800
O_FAL A ALY
380,000&*10H 3,800
= 1,520
= 684
Al 1,596
(D) ESHATHX 35,000 0 35,000
= 14,000
& 6,300
Al 14,700
402 2IRHXE01H 35,000 0 35,000
= 14,000
& 6,300

14,700
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Al 14,700
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[ 1,000
Al 2,500
307 BI2H0IA 3,500 3,500 0
[ 1,000
Al 2,500
02 CIZFHAIAII B X 3,500 3,500 0
OXHEASEHSIAIS 3,500,000 %Al 3,500
[ 1,000
Al 2,500
ENNSIEIEY] 12,700 12,700
301 UBrFEZ 2,700 0 2,700
11 #ALAHIXIEZ 2,700 0 2,700
Ool J2 NS (AL DASD =) &40
90,000 x5 23] 900
OLUSHX HM2HE| L ARISSISHAL ZA04H]
90,0004+ 10223 1,800
308 X XISHIEOIE 10,000 0 10,000
IEEENEEr-EENER 10,000 10,000
OYZAIDIS QI8 AES A2 RS
10,000,000 * 14! 10,000
SEEESES] 1,793,403 1,542,592 250,811
= 896,701
[ 269,011
Al 627,691
402 QI2FAF=0[™ 1,793,403 1,542,592 250,811
= 896,701
[ 269,011
Al 627,691
03 BIZFR[EFAIH 1,793,403 1,542,592 250,811
OX =217 (845a) 1,793,403
—20L42I43)|(50ha) 86,784,000 % 14! 86,784
= 43,392
[ 13,018
Al 30,374
— ORI LI IH3D| (178ha)
308,951,0002 %14l 308,951
= 154,475
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O= PRI KR ZAFE Q1244
76,9602 % 124x200 15,392
= 7.773
[ 2,286
Al 5,333
OAFZIHIO| QU ASZEIEH 0124H|
76,9602 *4%x200 61,568
= 31,002
[ 9,143
Al 21,333
O PIIHES 214
76,9602 x5 %260 100,048
= 50,524
[ 14,857
Al 34,667
Oz ZAIt BEE
1,433,000 % 14! 1,433
= 724
[ 213
Al 496
OAIZIHIO| QUi AL EICH 82
4,900,00094% 14 4,900
= 2,475
[ 728
Al 1,697
O=IIPIIHES 282
6,280,000 %14l 6,280
= 3,171
[ 933
Al 2,176
201 LBt2y| 23,500 23,500 0
= 11,868
[ 3,490
Al 8,142
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1,000, 000241074 24 +2CH 20,000
= 10,100
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02 224l 3,500 3,500 0
OBTEHIITI| xS
3,500,000 14 3,500
= 1,768
L= 520
Al 1,212
202 Odd| 1,760 2,000 A240
= 889
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Al 610
01 =LHO4YI 1,760 2,000 A240
O4HEHI0I2Q0HA ASEE ZAF & KT
40,0002 x2Z 22 1,760
= 889
& 261
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206 M= 4l 2,000 2,000 0
= 1,010
& 297
Al 693
01 M=Hl 2,000 2,000 0
O&HEHI0I20A =88 MY F2e S
200,000&*10& 2,000
= 1,010
& 297
Al 693
307 2IZ2t01 & 5,200 5,200 0
= 2,626
< 773
Al 1,801
12 QIRIOIRIE =H| 5,200 5,200 0
O=IH IR AL =]
450,000&3+1Y 450
= 227
& 67
Al 156
O4HHI0| 2 A =& & =S|
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& 149
Al 346
O=IFIIHEE w=sH|
750,000 +5H 3,750
= 1,894
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= 239
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()SHBILLR] 22(F2) 92,400 86,800 5,600
= 39,600
[ 15,840
Al 36,960
402 QIZHRH=0(E 92,400 86,800 5,600
= 39,600
[ 15,840
Al 36,960
02 SIIRFE A E X (01 ML) 92,400 86,800 5,600
OHIBUY B3(FHUR)
2,800,000 *33CH 92,400
= 39,600
[ 15,840
Al 36,960
(C)AMBMHIAZ 0] 29 X (HEALY) 72,000 63,374 8,626
[ 46,600
Al 25,400
101 Q124H 72,000 63,374 8,626
[ 46,600
Al 25,400
04 IR 22X EE S 72,000 63,374 8,626
OZAISTIZRY L S2HEXICA
76,9602+ x252Ux 112 42,328
[ 27,513
Al 14,815
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= 4,000
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Al 4,487
() AMEIAFRAIRIZR 10,650 10,650 0
[ 2,130
Al 8,520
201 L2 S 10,650 10,650 0
[ 2,130
Al 8,520
01 AFR2t2IHI 10,650 10,650 0
Ooggol 2K 22 10,650,000 * 1Al 10,650
[ 2,130
Al 8,520
FINEER PN 422,309 107,468 314,841
101 Q124H 107,745 57,600 50, 145
M IIIR22ISEES 107,745 57,600 50, 145
OLFAAIZ AR 22|12 QIHH|(AR0IS)
76,9602 %22 x282 102 43,098
OLHAAZPAE 22| 2IHH|(LEoIR)
76,9602 x20H 7 U +6H 64,647
201 L2 A 19,348 9,198 10,150
01 AF22t2IHI 7,200 3,000 4,200
OLHAAIZPAE 2i2IAL 2 HIZ 7
25,0002 5220 N 2,500
OLIAAZ AR RZUE P2
10,0002 %10Z+10KIE 1,000
OLAAZAE B &40 L oHHTH R
50,0002 %50H 2,500
OLHAAIZ AR 22| =H| YR
600,0002 %23 1,200
02 2229 12,148 6,198 5,950
OLAAIZAH 22| KR8 7Y 828
—JIHE, GIFDI K2
1,92024%2 g *50L 192
—JIHE, oiFI| Az
3,00024%20 ¢ 60
—dHS2EX FF]] 1,92024%300 £ 576
OLHAAIZR A 22l 8,520
—&dJIes 380,000 * 122 4,560
— 7018l 180,000 * 12 2,160
= N = 1= 150,000 * 122 1,800
OLFUEAZ AE] J|HIEH| 62X
200,000 %23 400
OLAAZRAE 2B A2 KA
200,000 %12 2,400
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206 =l 27,700 22,000 5,700
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OLIUAIZ AR 22|18 U 22 S
1,000,0002 %33 3,000
O&XIZ gXleF 72¢e 100,000 *43] 400
OQUAHIQl & 29t
30,0004+ 103] 300
OMAAZRIAE BX ER2 2| 24,000
—&82 F2dl 1,2002%10,0002 12,000
—SA P 300, 0002 *40kg 12,000
ENEEEET] 266,316 15,000 251,316
01 Al&H] 264,786 15,000 249,786
OLIAAZ AR KQER TETA}
70,000,000 % 141%99. 1/100 69,370
OLHAAZPI AE CCTV SXI22
6,000,0002 % 14! 6,000
OKRASR(HHE) 018 24
4,063, 1002457 20,316
OLIAAIZAE 2aAlE ZSEBA
100,000,0002 % 141%99. 1/100 99,100
OAAAIZRIAE 22| Y B4BA
70,000,0002 % 14! 70,000
03 Al CHHI 1,530 0 1,530
OLAAZ AR FQER TEIA}
70,000,0002* 141%0.9/100 630
OLAAZRYAE] 25AE ZSEBA
100,000, 00024 *141%0.9/100 900
405 KHAHE SH 1,200 3,670 A2,470
01 XL SEF SH 1,200 3,670 A2,470
OulFD| 2 800,000 %1CH 800
OXXYIQIX el 200, 0002+ 1CH 200
Ous H=Z)| 2 200,000 % 1CH 200
(2) AR TEESIALY 1,680,000 0 1,680,000
= 1,200,000
[ 144,000
Al 336,000
402 QIZHRH=0[H 1,680,000 0 1,680,000
= 1,200,000
[ 144,000
Al 336,000
02 QIFRHEAI 2R (O M TS ) 1,680,000 0 1,680,000
OB ZEIESIANY
1,680,000,000&! %14l 1,680,000
= 1,200,000
[ 144,000
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60,0002 %5074 A 3,000
OALRTHASY UMl Y NES e ARt
900,000 1CH*12& 10,800
OALIRE 2H0|S HHEEL 29 HIE 2
= 30,0002 *5Z 1074 1,500
02 2229 5,081 5,844 NAT63
OALRTHASY oAl= A2 S|
6,000*503] 300
O/MIYEE Hl &Y HA2HI(F2R)
,92024%100 £ 192
OAURE 2H0|S SE5x4 ®IB
100, 00024+ 104 Ax 122 1,200
OAUSTHASHYNS &0 M2
80,0001 A 12” 960
OIS JIHEH KX
80,0004+ 10CH 800
OAURTHAS 2l 2 oE X2F SRU(B
) 1,8109%75 4 122 1,629
206 XHEH| 8,900 8,900
01 JH2H] 8,900 8,900
OAURTHASY UMl AR(ESASH)
9,0002% 100 900
OAUSTHASY 2UHg gl
7,00024% 10074 700
OAUPTHASY GILLIRFAL A
110,0002%30S 3,300
OSY AIEHE UM 2H 2L
10,0002 %250 1,000
OMYss R W2 2
50,0002%3Z 20} 3,000
301 YEEAZ 2,500 4,000 A1,500
14 J[EIEAS 2,500 4,000 A1,500
OAUSTHASY AlDXF 243
50,0002 %502 2,500
401 AI&HI 22 800,000 700,000 100,000
01 Al&H] 717,000 596,220 120,780
OAURTHASY LHAIL (LTINS S DA
HH) 717,000,000 % 14! 717,000




A ARI=RID
HE: NN BS(STHASA/UY - AE)
EnieE (Etel: F2)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
02 Zelbl 80,000 100,000 20,000
OAURAEY LHIA (LIS S DA
HH) 80,000,00081% 14! 80,000
03 Al& =04 3,000 3,780 AT80
OAURTHES LHIA (LIS S DA
HH) 3,000,000 %14 3,000
EEENTEIEES) 34,700 39,075 4375
2 13,880
= 6,246
Al 14,574
201 2P| 11,600 11,600 0
=2 4,640
= 2,088
Al 4,872
01 At=2elt] 7.600 7.600 0
OlHERISIZ A 8,0002x950% 7,600
2 3,040
[ 1,368
Al 3,192
02 ZZ2YH| 4,000 4,000 0
OMZR012AI3IH2H SXIE4
2,000,000 *2CH 4,000
2 1,600
= 720
Al 1,680
202 01| 6,400 6,400 0
=2 2,560
= 1,152
Al 2,688
01 =Lhoihl 6,400 6.400 0
OMEXGIES 0ot 20,00024%3203] 6,400
2 2,560
[ 1,152
Al 2,688
206 A= 14,300 17.875 3,575
2 5,720
= 2,574
Al 6,006
01 M=l 14,300 17.875 3,575
OJRIXIGIEH] 2 357,500 %40} 14,300
2 5,720
[= 2,574
Al 6,006
405 KHoHF S| 2,400 3,200 800




S A=
Hu: NUNE 2S(SPHYSA/YY - AE)
EnieE (Etel: F2)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
= 90
= 432
Al 1,008
01 AL EEFSH] 2,400 3,200 2800
OFUHEREI| U 800,000 *30H 2,400
= 960
= 432
Al 1,008
()= (=) 7,800 96,600 88,800
= 3,120
= 1,404
Al 3,276
201 ZEr2 S| 7,800 7,800 0
=2 3,120
= 1,404
Al 3,276
02 Z=2=9t| 7,800 7,800 0
OASAZRRIAAL X122
130,000 *60CH 7,800
= 3,120
= 1,404
Al 3,276
BEEENES 2,435,684 2,086,953 348,731
= 366, 133
Al 1,464,534
= 605,017
101 o121 1,492,254 1,179,808 312,446
= 182,857
Al 731,428
= 577,969
04 IR2E S 24 1,492,254 1,179,808 312,446
OAHEZAIR 121t
76,9602+022 %2002 1,416,064
= 167,619
Al 670,476
= 577,99
OMEAIR 4H2EE % 1=
76,190, 00024+14] 76,190
= 15,238
Al 60,952
201 ZEr=2 | 913,930 875,645 38,285
= 177,376
Al 709,506
= 27,048




SN NESXID
Ha: MK

S9l: sEws ; _ (Etel: F2)
S - B - ORI(3]H) - HISAR - BaS Ol kot ] HIDE2
01 AFR2+2IH] 800,000 800,000 0
OXr=2&SED| XL 800,000,000 *1CH 800,000
[ 160,000
Al 640,000
02 22| 113,930 75,645 38,285
OAHZ Al 2IXI2HRIAIAE(GPS)
130,00024*21CH 2,730
[ 546
Al 2,184
OAHZS MR R K| B4
20,000,0002* 14l 20,000
[ 4,000
Al 16,000
OAZZIAIY R3Y|
6,000 %76 *200 91,200
[ 12,830
Al 51,322
= 27,048
405 XHAHE S 29,500 31,500 2,000
[ 5,900
Al 23,600
01 L EEF S| 29,500 31,500 A2,000
onsE UXgxsesl|
2,500,000 10CH 25,000
[ 5,000
Al 20,000
Oxtar & 012X LN 2|
900,000 %5CH 4,500
[ 90
Al 3,600
(2USHY E5E= 2,000 2,000 0
= 1,400
Al 600
202 O3t 2,000 2,000 0
= 1,400
Al 600
01 =LH0IH] 2,000 2,000 0
OMSH2r E52S Ot
20,0002/* 100 2,000
= 1,400
Al 600
(2)HEHE =oIX 171,000 72,000 99,000
= 133,000
[ 11,400




S A=
Hm: ARIX
cHol: MRS (ch

S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
Al 26,600
402 BIZEXHE0[H 171,000 72,000 99,000
= 133,000
[ 11,400
Al 26,600
02 CIZFRHE AR 2 X ( He!) 171,000 72,000 99,000
OWSH2E =0IXY Z2AMY
99,000,0002 %174 A 99,000
= 77,000
[ 6,600
Al 15,400
OBEI2 FRIAST
6,000,000 * 12 72,000
= 56,000
[ 4,800
Al 11,200
BEEEENEEESEET] 40,711 40,711 0
[ 12,214
Al 28,497
401 AlSH L2 40,711 40,711 0
[ 12,214
Al 28,497
01 Al&HI 40,711 40,711 0
ogss 22| 40,711,000 % 14! 40,711
[ 12,214
Al 28,497
(2) A THHL P2l (AFE 24 244,044 274,328 A30,284
= 122,022
[ 36,607
Al 85,415
101 o1A4| 193,644 233,488 N39,844
= 9,822
[ 29,047
Al 67,775
04 JRIMZ2IER 193,644 233,483 A39,844
OMIETHE K= RIS Q1]
76,9602 10H*230 177,008
= 88,504
[ 26,551
Al 61,953
O/rHGHE ofl = S8, 1=y
16,636,0002* 14! 16,636
= 8,318
[ 2,49




S ARSIt
M AT PE(SRHUSL/AY - AE)
el dsEs (Crol: X2l
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
Al 5,822
201 et | 46,900 38,040 8,860
= 23,450
& 7,035
Al 16,415
01 AlS2ell 30,000 30,000 0
O4tEEolls WEHNMESIE Xt
1,000, 000&*3CH*10& 30,000
= 15,000
& 4,500
Al 10,500
02 Z323H| 16,900 8,040 8,860
O4tedgalls HEZNHEE g |RFYI
16,900, 00021 % 14! 16,900
= 8,450
& 2,535
Al 5,915
307 21Z2t0] & 3,500 2,800 700
= 1,750
& 525
Al 1,225
12 QIR WS 3,500 2,800 700
O4tE8olls HIEZHE wW=Hl
350,000&*10H 3,500
= 1,750
& 525
Al 1,225
() THOH L Rl (Aol =) (XH2) 6,382 7,658 A1,276
= 3,191
& 957
Al 2,234
206 =4l 6,382 7,658 21,276
= 3,191
& 957
Al 2,234
01 JHZHl 6,382 7,658 A1,276
ONRIETHE HZETIS SHEY S
6,382,000 14 6,382
= 3,191
& 957
Al 2,234
(Z) Yo S 2H 459,614 234,267 225,347
& 137,885
Al 321,729




2 ARSI
HE: AN 25 (SMLSA/ ALY - AE)
ce d8Es (Crel:mel)
A EB - SRI(E) - KIRAY - BaS ol v ] HIDE2
101 QI24H] 113,850 154,137 N0, 287
[ 34,154
Al 79,696
M IIIR2Z2NEES 113,850 154,137 N0, 287
OIS o= o1A]
76,960 2«6 x2252 103,8%
[ 31,168
Al 72,728
OMEEY o2 AHBE2, TI=Y S
9,954,000 1Al 9,94
[ 2,986
Al 6,968
201 L2 A 28,119 24,020 4,099
[ 8,437
Al 19,682
01 AF22t2IHI 20,000 20,000 0
OMASY o2 X2 Axt
1,000,000 *2CH* 10 20,000
[ 6,000
Al 14,000
02 2229H| 8,119 4,020 4,099
OMASY o2 U2 |FH|
8,119,0002 % 14! 8,119
[ 2,437
Al 5,682
206 M=l 3,500 3,000 500
[ 1,050
Al 2,450
01 XHEHl 3,500 3,000 500
OAIEHEHE SHIE
3,500,000 % 14! 3,500
[ 1,050
Al 2,450
307 2I2H0I A 2,100 1,750 350
[ 630
Al 1,470
12 QI2t0IEt =Y 2,100 1,750 350
OM&=E o2 DS
350,000 +62 2,100
[ 630
Al 1,470
401 A& HIL S 0HY| 312,045 47,860 264,185
[ 93,614
Al 218,431




A AE=sXI
T MUTY BS(SEHYSM/LY - UE)
S AMEES CEEEED
SN - B SR(3H) - MBAR - BYS ofl Ao ] HIS2
01 A&t 302,747 45,900 256,847
OMAEZY oA
112,045,000 *97 . 02% 108,707
= 32,612
Al 76,095
OMESEY LIHSHMAAS
200,000,000 & *97.02% 194,040
& 58,212
Al 135,828
02 Zeldl 8,000 1,444 6,556
OMESE HIZA 3,000,000 %1 Al 3,000
& 900
Al 2,100
ONM&ZY LIH=HIHA
5,000,000 14! 5,000
& 1,500
Al 3,500
03 Al S0HYI 1,298 516 782
OMESE oA 338,000 * 1Al 338
= 102
Al 236
OMAZY LIH=HIHA
960,000 * 14! 960
& 288
Al 672
(=)Ao S A 550,026 564,339 214,313
= 392,283
= 47,323
Al 110,420
401 AlZHIZ 20| 550,026 564,339 14,313
= 392,283
& 47,323
Al 110,420
01 Al&H| 537,431 540,000 A2,569
OMEYlS(ALIRTHESY S) YA
550,026,000 & %97.71% 537,431
= 383,29
& 46,218
Al 107,917
02 2elbl 10,000 23,000 13,000
OMEHHS(ALIRTHESY S) YA
10,000, 0002 *14] 10,000
= 7,131
== 860




SA: A=
M AT PE(SNYSL/UY - AE)
el dsEs (Crol: X2l
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
Al 2,009
03 Al S0HYI 2,59 1,339 1,256
OMHEAB(ALULTHLEY ) LHAI
2,595,000&*14! 2,59
2 1,856
& 245
Al 494
(=2)Letolis 2l 99,791 0 99,791
= 60,983
& 11,643
Al 27,165
401 AIEHIZL 2 CHY] 99,791 0 99,791
2 60,983
& 11,643
Al 27,165
01 Al&HI 96,049 0 96,049
ABHTHE LHIAIL!
99,791,0002%96.25% 96,049
= 58,685
& 11,237
Al 26,127
02 Zeldl 3,742 0 3,742
OYLBIHFNE LRIAL
3,742,000 14 3,742
= 2,298
& 406
Al 1,038
(2)ZE= 2d0/s d554 =F 91,240 87,560 3,680
3 45,620
& 13,686
Al 31,934
101 2124d| 91,240 87,560 3,680
= 45,620
& 13,686
Al 31,934
IPJEI = =TEPS 91,240 87,560 3,680
OLS 0ISTEEAR 0I21H|
76,960 2«4 %250 76,960
= 38,480
& 11,544
Al 26,936
O2AAS 0ISTEEAR ANPER, 1=
14,280, 0002%14! 14,280
= 7,140




SH: ARSI
Ho: ARTE DS (SEHYSA/AY - AE)
ce d8Es (Crel:mel)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
[ 2,142
Al 4,998
()dEA ~=237g N 2,500 2,500 0
2 1,250
[ 375
Al 875
201 B2 2,500 2,500 0
2 1,250
S 375
Al 875
01 AFRZ2IH] 2,500 2,500 0
OMER »212 HLE
2,500,000 14l 2,500
= 1,250
& 375
Al 875
EE N EEESERERE 15,000 20,000 15,000
2 7,500
S 2,250
Al 5,250
401 AEHZ 20 15,000 20,000 5,000
=2 7,500
S 2,250
Al 5,250
01 AlZHI 15,000 20,000 5,000
O & 254 #e
15,000,000 * 14} 15,000
2 7,500
[ 2,250
Al 5,250
CIE=TINET 1,028,876 957,368 71,508
2 30,767
S 80,139
Al 917,970
(2) T L X2l (AFAFER S Z Ol ) 41,917 39,550 2,367
=2 16,767
5 7,545
Al 17,605
101 QI24t] 35,343 32,976 2,367
= 14,137
S 6,362
Al 14,844
04 JRINZETEES 35,343 32,976 2,367
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A

Ho: ARTE DS (SEHYSA/AY - AE)
Hel BT 3 OAE (EERSED)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
| Al 63
(S)UTAIE (LR /T ALY (HEAIY) 23,255 21,762 1,493
S 16,278
Al 6,977
101 QI24H] 23,255 21,762 1,493
[ 16,278
Al 6,977
04 JRIIZZTSES 23,255 21,762 1,493
OUczela o1y
76,9602 x2% 1252 19,240
S 13,468
Al 5,772
OL=2|e 4002 L Ot
4,015,00021%14! 4,015
5 2,810
Al 1,206
(D) LTAIE (24/TEAI) (DB AFY) 67,500 67,500 0
S 47,250
Al 20,250
401 ATEHI L= CHY] 67,500 67,500 0
S 47,250
Al 20,250
01 AlZHI 67,500 67,500 0
S 67,500, 000811 4! 67.500
S 47,250
Al 20,250
LTAIE (FEAI) (ZRF T2 AE) 39,756 39,756
308 XXM SOIA 39,756 39,756
07 KXIEHIRE 3 39,756 39,756 0
LAY KXIEHH2 RPEB(ZHH)
39,756,0002% 14} 39,756
(D)USAIE 4,618 4,688 AT0
S 1,386
Al 3,232
101 QI24H] 4,618 4,688 AT0
S 1,386
Al 3,232
04 IRINZETEES 4,618 4,688 AT0
OYUc2| DUHKY Q12|
76,9602 *1 x50 3,848
S 1,155
Al 2,693
OUE2 DUHSY 4028 & II=|
770,000 14! 770




A

HO NPT USSR/ - HE)
Hel BT 3 OAE (EERSED)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
< 231
Al 539
oI ALY 150,852 50,000 100,852
201 L2y 252 0 252
02 2229 252 0 252
oglzH| 252
—JIHE & GIFDII SFY
1,92021+502 %2 £ 192
—JIHE L oFD| AEQY
3,0002%20 ¢ 60
206 THEH] 600 0 600
01 THEH 600 600
Ace| LA HE Y
10,0002%10Z5+5I4 500
oz JIHEY Y
20,0002 %54 100
401 AlEHI L2 100,000 100,000
01 Al&H 99,100 0 99,100
OUTAIL THK oA
100, 00024 *500m+27H A*99. 1/ 100 99,100
03 AlZSHY| 900 0 900
OUTAIL TIHK E4Ar
100, 0002 *500m+2 4 2:+0.9/ 100 900
402 QIZFRHE0[H 50,000 50,000 0
03 QI2FSIEFAIIH] 50,000 50,000
OUTHEXI AHE2te| CHEAIY
50,000,000 1Al 50,000
ATAIL (MEHH) (IR YT AIY) 185,659 160,458 25,201
308 XHXIHHISOIA 185,659 160,458 25,201
07 REXISHHIZIRE 2 185,659 160,458 25,201
ATAIY KEXICHHZE 22
185,659, 00024+ 1Al 185,659
(S)AFAS 6,000 8,000 2,000
[ 1,800
Al 4,200
401 AlSH L2 6,000 8,000 2,000
[ 1,800
Al 4,200
01 Al&H] 6,000 8,000 A2,000
OMEA THHRUAS KHAMY
6,000,000 % 1Al 6,000
[ 1,800
Al 4,200
AFAR (2O E X ALY) 103,635 130,636 A27,001
308 XHXISHHISOI& 103,635 130,636 A27,001




A

X XH -
(=

R 2E X A (CHo]: Mol
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
07 MRISRIZRES 103,635 130,636 27,001
OAAIY XIXIEHHIRF 2E2
103,635,000 14! 103,635
INEINE= 372,084 393,018 20,934
201 Ler2a| 9,084 9,018 66
01 AtR2t2IHI 8,700 8,700 0
OATALE SN XIFHLIRS| & g
70,00021%10*23] 1,400
OATALE F{OFXI QHYE X
250,000 %104 2,500
OMeH THoHRAS MAHAY ZHl Axt=
600,00024 %43 2,400
OATALEY ToHX S2=7 ZHxt
600,0002 43| 2,400
02 3Z2H| 384 318 66
OHAIERFIRIS 22| =D 25 7
1,920%200 £ 364
206 M2l 3,000 3,000 0
01 T2t 3,000 3,000
OHAIERF XIS 2212 X PR OIHSY 2 45)
50,000 *20H 1,000
OATALEY TIGHK S2=78 A 7 (L
gl 43) 100,00024%204 2,000
401 AIEHIL 20 360,000 380,000 20,000
01 Al&H 351,648 370,865 19,217
OBHAIEN TIEHX STAMS
320,000,0008!+ 141%97 .39/100 311,648
OMEA THHRAS HIHA
2,000, 00024%207H 2 40,000
02 22| 6,048 6,615 567
OAHAIER TIEHX =AM
320,000, 0002 141%1.89/100 6,048
03 Al CHHI 2,304 2,520 216
OAFAIER TIEHX =T7AM
320,000,000 141%0.72/100 2,304
() ALAFEH L 424 K| S AR E AL 28,000 34,300 6,300
= 14,000
= 4,200
Al 9,800
401 AIEHIL 20 28,000 34,300 26,300
= 14,000
= 4,200
Al 9,800
01 Al&H 28,000 34,300 \6,300
OAFAIENZ 4224 K| AERZAL
700,00024+407H 4 28,000




PA: ME=RID

o
HE: M

[s=)
ol 2E 9 AR

S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
= 14,000
[ 4,200
Al 9,800
() APAFERFIQERI KT KIE 2 GHAl 5,600 7,700 2,100
[ 1,680
Al 3,920
401 AU L2 0] 5,600 7,700 A2,100
[ 1,680
Al 3,920
01 Al&dHl 5,600 7,700 2,100
OARAFERF2ERIS RIE & SHAl
5,600, 0002 % 14! 5,600
[ 1,680
Al 3,920
=X HEYT PE(SaU4/ A - AE) 10,849,291 6,798,333 4,050,958
= 57,999
p] 250,000
[ 429,299
Al 10,069,017
== 42,976
=X=& 5,148,763 1,162,880 3,985,833
p) 250,000
[ 75,000
Al 4,823,763
EEETEY 4,648,763 1,162,880 3,485,833
101 o1A4H] 47,408 91,600 A44, 192
M4 JHR2ENEES 47,408 91,600 N4 192
OJlEs 2 XX 22| o8y
76,9602+ *282Ux 112 47,408
201 B2 47,655 44,280 3,375
01 AlR2+2IH 31,520 31,520 0
OYZAl TAIYSS AR AMORS| 5
70,0002 %6 * 13 420
OZBEAR TH(BSEEAFE S) 2|
150,0002*2% 300
OZX&X S 2lg 822 2|
50,0002 *87H A*20H 800
OUDE L IR, AKX 22| Y UXE
00,0004 103/ 6,000
O=22 M AIZ2Z 14,000,000 %1 14,000
OxZzelge xe Azt
1,000,000 % 1CH* 102 10,000
02 229 16,135 12,760 3,375
OZXAX S A& gx22l 7,800




A AR=RID

I =X UEND PE(sHMYSAH/LY - AHE)
ool sAxE (crel: M)
SA - A SR(B) - AIRAI - BAS o vy ] bl D2
—dJes 600,000 * 12 7,200
—ZAX E 25 A2 SR
50,0002 % 12 600
OsXIZZEY | 1,000
—S80FII 50,000 *4CH*23] 400
—s5838)| 50,0002 *4CH*23] 400
—JIAS 50,0002 *2CH*23] 200
OXZ2ARIAE AXXY ARLD SHRXH|
200,000 % 1CH* 122 2,400
OXZX 22| H|H 85 2 4,935
] 1,920=%1,000 £ 1,920
- 3,00024%50 ¢ 150
—827 3,00024%50 ¢ 150
—TAVULE S SR
1,81020%150 £ *1CH* 10 2,715
206 XHEHl 119,100 33,600 85,500
01 XHEHl 119,100 33,600 85,500
OJ24 & =PI 22| 38,600
—aSh 40,00024%100 £ 4,000
— & A 40,0000%100 ¢ 4,000
—JIHSH 25,00021%100 £ 2,500
—=AT 10,0002 %105+ 103 1,000
—HERA IR 14,0002 100H 1,400
— S I 20,00024%200 ¢ 4,000
—HESH UL (LA E )
3,500 *8007H 2,800
—42 IAH(HU)
16,0002 %1501 2,400
—Hl27e 8,000
- 2AEHIE 5,00024%1, 200 6,000
=282 20,0002% 100 2,000
—=SXNXZALE HHPY
20,0002*20E+ 105 4,000
—XAX FSIHY 2L
4,50024%1,000m 4,500
OZ AE 3= 2 200,000 %4000 80,000
OJ24 L XAX 22| oL oFZEN Y
10,0002 %50H 500
301 LEEAS 3,600 2,400 1,200
14 JIEI2 A3 3,600 2,400 1,200
Oglztol A X =2 | 300,000 x5 1,800
ODiztol migiB A= 300, 0002 +62 1,800
308 XXICHHISOIA 50,000 0 50,000
11 I ZSOHEH B AR RIE A 50,000 0 50,000




A

=N

M =X HEYD PE(SHMHLSAH/AY - AE)
= R N (Crol: X2l
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
CEEN EEENSIENEERTY)
50,000,000 * 14l 50,000
401 AlZHIL 20| 4,380,000 990,000 3,390,000
01 Al&HI 4,373,900 987,480 3,386,420
OAIDIXI DI5tE 2 Al
12,500,0002*43] 50,000
OXARX ASZ2IZ A
2,000,000,00024%141%99.8/100 1,996,000
OJt24 AE 222 A
700,000,0002 % 141%99.7/100 697,900
OB7A ZESAL 150,000, 0002674 A 900,000
OSHE XA =3 22
10,000,000+ 19HEHS 190,000
OXAX AlEES DA L SXE4
20,000,0002 %204 A 400,000
O2GH QEMIA HBTAA (DR A
100,000,0002* 14! 100,000
OQHE B chE02| 2l 22t ZH(FDIR0I0A
40,000, 0002 % 14! 40,000
03 Al& S| 6,100 2,520 3,580
OXZER AS 2|2 At
2,000,000,000&1%141x0.2/100 4,000
OJt24 AS 2|2 At
700,000,000 % 141%0.3/100 2,100
405 KHAHE S 1,000 1,000
01 L EEF EH| 1,000 1,000 0
OZZX 2ele JIHEH 2
1,000,000 *1CH 1,000
()2 AN ETA 500,000 0 500,000
p] 250,000
[ 75,000
Al 175,000
401 A& HIL 20| 500,000 0 500,000
p] 250,000
[ 75,000
Al 175,000
01 Al&H| 500,000 0 500,000
OAlIERALY * 14 500,000,000 500,000
p) 250,000
[ 75,000
Al 175,000
ZexS o 22 4,392,490 3,196,495 1,195,995
ZolxN 1,562,490 1,546,495 15,995
101 o12A4] 137,298 114,317 22,981
04 22X EE S 137,298 114,317 22,981




SA A=
M SX HERD PE(STHLSA/ LY - AHE)
ool SJXY Y 2t CEEEED
SA - FH . SRI(B) - HIRAY - BAS il b ] Hl D=2
OTAlZel el o8
76,9602 *x4H*252x 102 76,960
OSs0/E otE22IX 218
76,9602 +4 %282 02 17,240
OZAIZY HTH I o2
76,9609 2B *282U* 102 43,008
201 LB 99,892 69,278 30,614
01 AlR2t2/H 30,200 16,200 14,000
O0ZI0I=0lAlA oIS
100,000 2% 200
O22 elg 842 |
50,0002 *60 I A *23] 6,000
O3¢RI I AXHG2EH)
1,000,000 *2CH* 12 24,000
02 2229 69,692 53,078 16,614
OZAIZY AE2(3HEA E) |X 22
1,300, 0002 * 1074 A 13,000
O0f2I0|22 SO0lAIE HHARHSE Jte]
3,000,000 % 14! 3,000
OZAIZY(2=0IH, ZEZ S) A8 X 22
38,400
—&JIes 1,200,000 * 12 14,400
— Aot ER3 4,000,000 +62 24,000
OZze| & 2K 1,000
—SH0FI 50,0002 %2CH#43] 400
—s8&3| 50,0002 *2CH %43 400
—JAS 50,0004 1CH*43] 200
Oz ®HD|H 28 2 1,260
-3¢ 1,92024500 £ 960
—dFQY o &S 3,00024%100 £ 300
o222 12 =20
1,81024%300 4 *2CH* 122 13,082
206 M=l 31,300 19,400 11,900
01 M2HI 31,300 19,400 11,900
OZAIZY &2 22| 25,500
—SYUHE gHE &AM P
3,500, 0002 %33 10,500
—EEp 10,0002 % 105 +30% 3,000
—CAZRE 228 G
20,0002 *20Z+30H 12,000
OSs0|& A= o
10,00024%100& 1,000
O=9 staal 228 HIZ Y
200,000 x2JH A 128 4,800
401 AlZHIZ 20| 1,290,000 1,340,000 50,000
01 Al&HI 1,285,536 1,337,840 A52,304




SN ARSI
HH: =X ESD PE(SHMATL/LY - &E)
tel: S 2 22 (chel: & 2l)
S - B - ORI(3]H) - HISAR - BaS Ol kot ] HIDE2
OOlRI0Z ZEZSINE(HE) & AAIET]
20,000, 0002 %274 4 40,000
OOlI0IZ2 HHIZA
220,000,0002*2H A+99.28/100 436,832
OZAZB L& AIEE 24 L TH 2A
300,000,0002% 14! 300,000
OZAIZBE (CTV L 2otS XA
40,000, 00024+57H 4 200,000
OOEI0IZE 22 A=A
1,000,0002 107 A+33] 30,000
OZAIZE W +SHY BA
200,0002*5002*13] 100,000
OZAIBY SX22I(013 L HHSUR) SA
60,000,0002x33]%99. 28/ 100 178,704
03 Al =] 4,464 2,160 2,304
OOl2I0IZ2 HHIZA
220,000,0002+2I4 A+0.72/100 3,168
OZAIZ2 |X22I(0F L HHSLA) ZA
60,000, 00021%374 %0, 72/100 1,29
405 KHAHEEH 4,000 3,500 500
01 XL SEF S 4,000 3,500 500
Oza2elg dFI| 7Y
1,000, 00024*1CH 1,000
ozl oIl 7L
1,000,000+ 1CH 1,000
Oz Ho™AI| 7
1,000,000 +2CH 2,000
IEZE T 400,000 0 400,000
01 AEH L2 400,000 0 400,000
01 A& 400,000 0 400,000
OJEZ2 ZEAL(1R)
400,000,0002% 14! 400,000
TEZE TAAY 2,430,000 0 2,430,000
401 AIZHIZ S 2,430,000 0 2,430,000
01 Al&H] 2,430,000 0 2,430,000
OTe3e EXZA|
121,5002%20,000 ™ 2,430,000
AFRIHIELIA 1,308,038 2,438,958 A1,130,920
=2 57,999
S 354,299
Al 852,764
= 42,976
EENEEEEEE 114,664 92,500 22,164
= 42,999
S 30,099
Al 12,900




SA A=
M SX HERD PE(STHLSA/ LY - AHE)
SR CBHIZLIS (Etel: F2)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
= 28,666
307 2I2+0| & 114,664 92,500 22,164
= 42,999
[ 30,099
Al 12,900
= 28,666
05 DIZIRIErS 114,664 92,500 22,164
OR0l=HER fle2y
114,664,00024 14! 114,664
= 42,999
[ 30,099
Al 12,900
= 28,666
BENEEERENE] 30,000 15,000 15,000
[ 4,700
Al 10,990
= 14,310
307 2I2H0I& 30,000 15,000 15,000
[ 4,700
Al 10,990
= 14,310
02 QIFAAAIIE X 30,000 15,000 15,000
OS0l=Z2Ia X2
30,000,000 * 14! 30,000
[ 4,700
Al 10,990
= 14,310
SOoI=HEY 2 101,574 63,500 38,074
101 2124t 25,354 0 25,354
M IIR22IEES 25,354 0 25,354
OR0IEHER 22l QIRA & 882 25,354
—QOEHEY 22| QIRAA
76,9602+ 12x282+ 112 23,704
—4HEE 150,000+ 12112 1,650
201 LB 14,220 13,500 720
01 AF222IHI 3,020 2,300 720
OR0IEHER T 4
70,0002 +6 420
OFZ%=E 7 10,0002+ 10E=2M E 200
OR0IEHER 8 2 OHY S50 HIZ
50,0002 * 107K 500
OARE8E 74 100,00020%02 900
OR0tEHEs 17 7Y
10,0002 %x2Z 504 1,000




2 ARSI
M SX HERD PE(STHLSA/ LY - AHE)
Sl AFRIHIALIA CEEEED
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
02 22| 11,200 11,200 0
OR0t=HEe Ald Kz 11,200
—S0EHER 23
100,000 * 12 1,200
—Q0IEHER AIES R
10,000,000 * 17 A 10,000
401 AlEH 220 62,000 50,000 12,000
01 Al&H] 62,000 50,000 12,000
SUIEHEY BAAA
30,000,0002 % 1HA 30,000
OROIEHER AL2 &X
30,000,000 * 14! 30,000
OR0l=HER ZHD|
1,000,000 <23 2,000
(C)=2 XA 2 (HEAIY) 489,000 1,500,000 1,011,000
[ 244,500
Al 244,500
401 NI 220 489,000 1,500,000 1,011,000
[ 244,500
Al 244,500
01 Al&H] 485,480 1,494,600 1,009,120
OSMEYY EEAY
485,480,0002 %14l 485,480
[ 242,740
Al 242,740
03 AlZSCHHI 3,520 5,400 A1,880
OSMEYY EEAY
3,520,000 % 14! 3,520
[ 1,760
Al 1,760
EWNESTE] 267,800 422 958 A 155,158
201 L2 S 11,800 12,158 A358
01 AF22t2IHI 800 600 200
OSalz 88 2 HH|QHY 3240 M=
50,0002 x6 ) A*23] 600
OFRSAE 7Y 10,0002 % 102K E 200
2 22294 11,000 11,558 558
OSA2 AlE L 31EA SXI2e) 11,000
—SUXE0D] MR
50,0002 14CH* 122 8,400
—SAZ AIEZS(EHRE0D|, BAH) KA
100, 000 * 14CH 1,400
—St&EA JMI|IRS 100,000 %122 1,200
206 M=l 2,000 800 1,200
01 M2HI 2,000 800 1,200




SA A=
M =X HEYD PE(SHMHLSAH/AY - AE)
el AEHIELIA (el & 2)
S - B - ORI(3]H) - HISAR - BaS Ol kot ] HIDE2
OSalz o Statal 2ie|g YT, HIE 1
20,0002 *10Z*10H4 2,000
401 AlEHIZL 20| 254,000 410,000 A 156,000
01 Al&H 254,000 410,000 A 156,000
OSKZ SXTel A
150,000, 0002 * 14! 150,000
OAZISE Q22| At
20,000,000+ 14! 20,000
OSHXIZ0D] AX & FMI|BA
32,000,000 x2CH 64,000
Osa&tz EHD| 5,000,000 43| 20,000
() HEHAP =25 A AE 35,000 85,000 50,000
[ 10,500
Al 24,500
307 I2H0IA 35,000 35,000 0
[ 10,500
Al 24,500
02 CIZFHAIAII B X 35,000 35,000 0
OME AR 2 25 XA E
35,000,000 % 14! 35,000
[ 10,500
Al 24,500
(C)HSTIIXI S At M AR X R B 5| JHE 200,000 200,000 0
[ 60,000
Al 140,000
308 XtXISHHISO0I A 200,000 200,000 0
[ 60,000
Al 140,000
TEEE N EEr-EENER 200,000 200,000 0
OBHSIH2HX S At AR X QB2 5| JHE|
200,000, 0002 * 14! 200,000
[ 60,000
Al 140,000
(2)ADIEIIEEETIAY 30,000 60,000 30,000
= 15,000
[ 4,500
Al 10,500
401 AU 20| 30,000 60,000 30,000
= 15,000
[ 4,500
Al 10,500
01 Al&H] 30,000 60,000 30,000
OADIEIIEE AX
30,000,0002 %174 A 30,000




2 ARSI
M SX HERD PE(STHLSA/ LY - AHE)
Sl AFRIHIALIA CEEEED
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
= 15,000
[ 4,500
Al 10,500
NETESEES 40,000 0 40,000
201 L2 A 40,000 40,000
03 BAFS 2| 40,000 0 40,000
OZA2C MeRts] IFA| E28A 29
40,000,000 % 14! 40,000
M 2HAY| (A=K D) (JIEHIIE 139,500 131,764 7.736
PIEELE] 139,500 131,764 7.736
BIE=E=EE] 139,500 131,764 7,736
201 LB 35,100 31,324 3,776
01 AF222IHI 35,100 31,324 3,776
O=AEX 2 20,0002 %258 A% 122 6,000
OSZ20HAldl 8,000 +x6A! %258 % 128 14,400
Otz 10,0008 12 1,200
0ARD TATRLH] 50,00081% 122 600
OARD 24 11,400
—SARDI =l 1,000,000241.5CH 1,500
—IRIE g 100, 0002 *6CH*50/ 100 300
—2A0| €Y 200,000 %53 1.5CH 1,500
—T2IE EL(S)
200,000 %53 *6H 6,000
—T2lE EU(2Y)
200,000 %53 *1CH 1,000
—PC =cl 100,000 *25CH*20/ 100 500
—JIE 22| 50,00081* 12 600
OJIEH AFR2t2IH] 5,000 %252 %122 1,500
202 O] 99,000 95,040 3,90
01 20| 99,000 95,040 3,960
(OF(8,[:]:] 20,0002*25% 122+ 122 72,000
O2/ 04t 90,0001 *25%* 122 27,000
203 22| 4,200 4,200 0
04 ENSHADEZAIH 4,200 4,200
ORNMIYRFEI 350,0002 %12 4,200
204 225 AH| 1,200 1,200
01 ZHZ A4S AH| 1,200 1,200 0
ORMSAURAHAH| (A2 =X DA
100,000 % 12122 1,200




